N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} (%] %] [%]
x x < B4
[*] Q [=] o
g ., 8 g g
P10t 3 @0° s
2 $o g
<
10° 310
10°
10°
10
10
o DQ _(,KF |
S DQM CKF XlMlnusNOPU retramo\dF\Ieslzs vZ _prelimWPM epoch3
o O [renvs 2 T O [
0.8 - 0.8 ]‘ i EERR i
E 5 ! : :
osp : o6 Rt i Do oL
-25-20-15- 10 5 o 5 10 1q 20 25 0995 -20- 15 10-5 0 5 10 15 20 25 —z5—2‘0—b—10 5 0 5 10 15 20 25 05 =50-15-10 =5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
g 8 g
o Q Q
= & g
E
1 S 10
i)
a .............
D: }
: : : ] ik : : : ] : :
%50 20 -0 0 10 20 30 0'9—5’3.0 —20 ~10 10 20 30 8g 010 0 10 20 30 °¥Pp 20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


